

## INTEGRATION BY PARTS

BLAKE FARMAN

Lafayette College

Name: Solutions

---

Evaluate the following integrals

1.  $\int x \cos(x) dx$       $u = x$       $v = \sin(x)$   
                                  $du = dx$       $dv = \cos(x) dx$

$$\begin{aligned}\int x \cos(x) dx &= x \sin(x) - \int \sin(x) dx \\ &= \boxed{x \sin(x) + \cos(x) + C}\end{aligned}$$

2.  $\int \ln(x)^2 dx$       $u = \ln(x)^2$       $v = x$   
                                  $du = \frac{2\ln(x)}{x} dx$       $dv = dx$

$$\begin{aligned}\int \ln(x)^2 dx &= x \ln(x)^2 - \int x \frac{2\ln(x)}{x} dx \\ &= x \ln(x)^2 - 2 \int \ln(x) dx \\ &= x \ln(x)^2 - 2 \left( x \ln(x) - \int x \frac{1}{x} dx \right) \\ &= \boxed{x \ln(x)^2 - 2 \ln(x) + 2x + C}\end{aligned}$$

$$\begin{aligned}u &= \ln(x) & v &= x \\ du &= \frac{1}{x} dx & dv &= dx\end{aligned}$$

$$3. \int e^{2\theta} \sin(3\theta) d\theta \quad u = \sin(3\theta) \quad v = \frac{1}{2} e^{2\theta}$$

$$du = 3\cos(3\theta) \quad dv = e^{2\theta} d\theta$$

$$\int e^{2\theta} \sin(3\theta) d\theta = \frac{1}{2} e^{2\theta} \sin(3\theta) - \frac{3}{2} \int e^{2\theta} \cos(3\theta) d\theta \quad u = \cos(3\theta) \quad v = \frac{1}{2} e^{2\theta}$$

$$= \frac{1}{2} e^{2\theta} \sin(3\theta) - \frac{3}{2} \left( \frac{1}{2} e^{2\theta} \cos(3\theta) + \frac{3}{2} \int e^{2\theta} \sin(3\theta) d\theta \right) \quad du = -3\sin(3\theta) \quad dv = e^{2\theta} d\theta$$

$$= \frac{1}{2} e^{2\theta} \sin(3\theta) - \frac{3}{4} e^{2\theta} \cos(3\theta) - \frac{9}{4} \int e^{2\theta} \sin(3\theta) d\theta$$

$$\Rightarrow \left(1 + \frac{9}{4}\right) \int e^{2\theta} \sin(3\theta) d\theta = \frac{1}{2} e^{2\theta} \sin(3\theta) - \frac{3}{4} e^{2\theta} \cos(3\theta) + C$$

$$\Rightarrow \boxed{\int e^{2\theta} \sin(3\theta) d\theta = \frac{2}{13} e^{2\theta} \sin(3\theta) - \frac{3}{13} e^{2\theta} \cos(3\theta) + C.}$$

$$4. \int (x^2 + 1)e^{-1} dx$$

$$\int (x^2 + 1)e^{-1} dx = e^{-1} \int (x^2 + 1) dx$$

$$= \boxed{\frac{1}{e} \left( \frac{1}{3} x^3 + x \right) + C.}$$

$$5. \int \arctan(\theta) d\theta \quad u = \arctan(\theta) \quad v = \theta$$

$$du = \frac{1}{1+\theta^2} d\theta \quad dv = d\theta$$

$$\int \arctan(\theta) d\theta = \theta \arctan(\theta) - \int \theta \left( \frac{1}{1+\theta^2} \right) d\theta$$

$$u = 1 + \theta^2$$

$$du = 2\theta d\theta$$

$$\Rightarrow \frac{1}{2} du = \theta d\theta$$

$$= \theta \arctan(\theta) - \int \frac{1}{2u} du$$

$$= \theta \arctan(\theta) - \frac{1}{2} \ln|u| + C$$

$$= \boxed{\theta \arctan(\theta) - \frac{1}{2} \ln(1 + \theta^2) + C.}$$